MARKING SCHEME BSEH PRACTICE PAPER 1, 9" MATHS , March2025

(HINDI MEDIUM)
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SECTION-B

21.
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22.

(3V5 -5V2 )(4V5 +312)
3V5(4V5 +312) - 532(4V5 +312)

---------------------------------------------------------------------------------------------------------------------------------




60+9v10-20V10-30
30-11V10

23.

7+3V2 7-32

_ 7-32
" (7-3v2)(7+3v2)

24,

104 x 97
104x97= (100+4) x (100-3)

Igl, x=100 , a=4 ,

b=-3

TAATHHT , (x+a) (x+b) = x*+ (a+b) x +ab GaART

= (100)%+(4-3)100+(4%-3)
= 10000+100-12
= 10088

25.

IfE x—2, p(x) T Teh IUEAES gal P(2)=0

IUAES JAT aRT

p(2) = 4(2)% -3(2)% 4(2)+3k=0




= 32-12-8+3k=0
=12+3k=0
3k=-12

x3=0cd W x=3

x=3 §gIE H WA W (3)%-4(3)%+3+6

= 27-36+3+6= 0

3: UGS THT EIRT x-3, TgUE X -4x+x+6 H Teh VTS gl

SECTION-C

26.

y, X & 3ThAEIA §

yXXx

= y = kx

y=12 @A W & x=4 §

12=4k

= k=3

safoT y=3x

x=5 T@eT W y=3x5=15
27.

<\:\hb{-|‘\01 &l I = 3.5 mm

A\ o 35
el & 3T = — mm




4 22 35 35 3.5
X—X—X—X

28.

The expression 64m® — 343n ' can be written as (4m)*-(7n)®
64m° — 343n°= (4m)*-(7n)*

We know that, x>-y* = (x-y)(xX*+xy+y?)

= (4m-7n)[(4m)?+(4m)(7n)+(7n)?

= (4m-7n)(16m*+28mn+49n?)

29.

2x + 3y =12




X=0 T@a 9T 2x0 + 3xY = 12

3Y = 12

X=1 @sl WX 2x1+ 3xY = 12
3Y=10

(iii) ERT & (2,%)

30.

AMAT X = 0.235=0.2353535.................. (i)
(i) T 10 ¥ Sl RE IOM Fed R
10x = 2.353535.....cccciieieennnn (ii)
(ii) T &t TR® 100 & IOT Hel W
1000x = 235.353535.......ccccvvnnnn. (ii)
(iii) - (i) P W
990x = 233.0000

233

*~ 990

31.

The expression, 8X> + 27Y? + 36X°Y + 54XY?
can be written as (2X)° + (3Y)* +3(2X)*(3Y) +3(2X)(3Y)?




=(2X)° + (3Y)® +3(2X)*(3Y) +3(2X)(3Y)*
FAATAST ga@RT (x +Y)° = x> +y° + 3xy (X +)
=(2X)* + (3Y)* +3(2X)(3Y)(2X +3Y)
=(2X+3Y)?
=(2X+3Y) (2X+3Y) (2X+3Y)

OR

31.

8X°+Y®+27Z° - 18XYZ I
59 YR o Tad & (2X)° + Y3 +(32)° -3(2X)(Y)(32)
TSATHAST GART X + y+2°-3xyz = (X +y + 2)(X + Y* + 2° = Xy — yZ — 2X)

=(2X+Y+32Z)((2X)? +Y? +(3Z)? -2XY-Y(32)-3Z(2X))

(2X+Y+3Z)(4X? +Y? +97% -2XY-3YZ-6ZX)

SECTION-D

32.

mmwir@r@ngBé?a’rm?:rﬁFgCHmC’%l

ar, AC=BC

WC’,W@ABWHW%%I
sgfaw , AC’=BC’




= C=C
safaT C g C' e & foig & 37T &ureh ¢ |
3 Teh JWTEUS T Uk g HEY g g & |

33

% |

% \_@\N ¥
™

ﬁ‘ﬂg&ﬁg -a:b=2:3 dIlr 2POY =90°

gd ;- a:b=2:3 A AT a=2x 3R b=3x¥

§H Seid ¢ foh Y@ oAt 7 JeT gART 180° & TR Bl
s@felT, ZPOY +a +b = 180°

ST foh 9ot & fear sr g ZPOY =90° &1 AT 3@ IR,

a+b =90°

n 2x¥3x=90°  TH gl el W & It glaT §
5x = 90°
So, x =18°

- a=2x18° = 36°




b = 3x18° = 54°

3IRNG T, b+c AT Ter Wely @ 9T HIoT IATTT

zafalT, b+c = 180°

c+54° = 180°

~ € =126°

gd - AB Il CD dr PQ t& ades Y@r ¢ (feargamg)
sqfoT, ZAPQ=/PQR ( 37cT: TR Fi0T )

ZAPQ =50° 3R ZPQR = x &l HATT W@l W

X = 50°
ZAPR = /PRD (3T THRIAX hI0T)
ZAPR = 127° (AR LPRD = 127° fem gam g )

§H dg Jeid 8 LAPR =ZAPQ+£QPR

379, ZQPR=y 3iR ZAPR=127°&T HT IE@A W,




gH U & 50°+y = 127°
= y=77°

x=50° 3R y=77°

AT F3e7eT 1 dleT el § 12x, 17x, 25x
H&*W(s)=%0=27omﬁ

B 12x+17x+25x
- 2

270

54x= 540
x=10

ggell 8eT = 12x10= 120 @
qElr oS = 17x10 = 170 QA
oY 8fetm = 25x10 = 250 QT

AHT&8o=/s(s—a)(s—b)(s — c)

= /270(270 — 120)(270 — 170)(270 — 250)

J/270(150)(100)(20)

9000 F3F TFY

OR

QIFaThX eIdY &1 B3ear (r) = 7 &
QFATRI eIdY & FA1s (h) = 24 Q&Y




SR AT Y EE FAS (L) = (02 + (h)?
=/ (7)? + (24)2
= V49 + 576
= V625

1 0x2—72x7x25

5500 gar I+

10 AT &1 Fel Fed = 5500 x 0.35 = 1925 &.

fear sm & : AC=AD 3 IW@@E AB, LA H FHGAHISIT T &l

f387siT AABC 3R AABD &
(i) AC = AD ( &= 7rar )
(i) AB = AB (3HITASS)

(i) ZCAB = ZDAB (3if&: AB&IUT AT HHGAHTSTH &)




gafaT, AABC = AABD. (SAS HaTeTHAT HEET & 3HTAR)

9ReT o g@ER AT & T, BC=BD&| (C.P.CTH fUH & 3R

SECTION-E

(i) TYeTST ABC Y [aTTU el 122 #IeX, 22 #eX 3R 120 #Hiex §

319, 9RATT (122+22+120) = 264 #Hre e

(i) 37¢ IRATT (s) = 264/2 = 132 AT

BRI & T & JANT A I,

97T T &9 = \/s(s —a)(s —b)(s — ©)

=,/132(132 - 122)(132 — 22)(132 — 120)

=v132x 10 x 110 x 12
=1320 m?
OR
g9 Sea ¢ [ ufa a¥ faamasr 1 fomar = 5000 9fad g9t e
- Teh EIaR &l 3 HGIA AT fHIAT = &, (1680x5000%3)/12

=%. 2100000

(i) Tger FuT oA & T & g = 2- (-2) = 4 SFS




(i) 3ifeher (1) TR Tqier & dor ¢ |

(i) TR AT & TUE T HA F fAGS W AR™—AT I TR Sl §

OR

(iii) FFETE = 8 TS s = 4 5F
&T%hel = 8X4 = 32 T THS

(i) ToEifded gof A of TEH 3786 T ST |

(i) TSNS &of E o 99 & Te Siar |
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MARKING SCHEME BSEH PRACTICE PAPER 1, 9" MATHS , March2025

(ENGLISH MEDIUM)

Q. Expected solutions marks
no.
Section-A
1 1@ 9 1
2 | (B)40° 1
3 | (C) SSA 1
4 |(D)3.4cm 1
5 | (A) 75° 1
6 | T 1
7 | (A) 24 cm? 1
8 | C) Halved 1
9 |(A) 137.5 1
10 | (D) 2 1
11 | (C)2 1
12 | (B)3 1
13 | (A) -6 1
14 1 ®) mr(+ E) 1
15 | (A) 65° 1
16 | 360" 1
17 | (B) 50° 1
18 | 90° 1
19 | D) Aiis false but R is true 1
20 | B) Both A and R are true but R is not the correct explanation of A. 1
SECTION-B

21.

We know that 5+1=6

3 3 6 18 4 4 6 24

S= - X - == and - = - X- ==

5 5 6 30 5 5 6 30

1

...............................................................................................................................




22.

(35 -5V2 )45 +312)
3V5(4V5 +312) - 53245 +312)

.................................................................................................................................

60+9v10-20v10-30
30-11V10

23.

1 7-32
7+3V2" 7-3V2

_ 7-32
T (7-3v2)(7+3V2)

24.

104 x 97
104x97= (100+4) x (100-3)

Here, x=100 , a=4 |, b=-3
By using identity , (x+a) (x+b) = x*+ (a+b) x + ab
= (100)?+(4-3)100+(4x-3)
= 10000+100-12
=10088

25.

If x—2isafactor of p(x),then P(2)=0

By factor theorem




p(2) = 4(2)° -3(2)*- 4(2)+3k=0

= 32-12-8+3k=0
=12+3k=0
3k=-12

By putting x-3 =0 weget x =

By substituting x=3 in polynomial we get (3)>-4(3)*+3+6

= 27-36+3+6= 0

Hence by factor theorem x-3 is a factor of polynomial x>-4x%+x+6

SECTION-C

26.

Since y is proportional to x given

yXx

= ¥V =KX, (1)

We put y=12 when x=4

12=4k

= k=3

By using k=3 in (i) we get y=3x

when we put x=5 we get y=3x5=15
27. | Diameter of capsule = 3.5 mm

: 3.5
Radius of capsule = - mm
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Let radius of Moon =r
Let radius of earth = 4r

Surface area of Moon _  4nr
Surface area of Earth  4n(4r)?2

28.

The expression 64m® — 343n® * can be written as (4m)*-(7n)°

64m° — 343n°= (4m)*-(7n)?
We know that, x>-y* = (x-y) (X*+xy+y?)
= (4m-7n)[(4m)*+(4m)(7n)+(7n)?

= (4m-7n)(16m*+28mn+49n?)

29.

2x + 3y =12
By taking X=0 we get 2x0 + 3xY = 12
3Y = 12
Y=4

(i) First Solution (0,4)

By taking X=1 we get 2x1+ 3xY = 12
3Y=10
Y:E
3

(if) Second solution (1, )




By taking X=2 we get 2x2 + 3Y= 12
3Y= 8
y=2
3

(i) Third solution (2, %)

Letx = 0.235=0.2353535.....c.ccenne... @)

Multiplying (i) by 10 on both sides
10X =2.353535..cicieieieieee, (ii)

By (iii) — (ii) we get
990x = 233.0000
_3
990

The expression, 8X> + 27Y? + 36X°Y + 54XY?
can be written as (2X)° + (3Y)? +3(2X)*(3Y) +3(2X)(3Y)?

=(2X)® + (3Y)* +3(2X)4(3Y) +3(2X)(3Y)?
By using identity (x +y)> = x® + y* + 3xy (X +y)
=(2X)* + (3Y)® +3(2X)(3Y)(2X +3Y)
=(2X+3Y)? =(2X+3Y) (2X+3Y) (2X+3Y)

OR

The expression 8X° + Y® + 27Z° — 18XYZ
Can be written as (2X)® + Y®+(32)° -3(2X)(Y)(32)




Xy +7°—3xyz= (X +y +2)(X° + Y+ 2° — Xy — yz — 2X)

=(2X+Y+32)((2X)? +Y? +(3Z)? -2XY-Y(32)-3Z(2X))

(2X+Y+3Z)(4X? +Y? +97% -2XY-3YZ-6ZX)

SECTION-D

Let there are two mid points C and C’ of line AB

If C is mid point of line AB
then , AC=BC

If C’ is mid point of line AB
then , AC’=BC’

From (i) and (ii)
AC=AC’
= C=C’

Therefore C and C’ are same point
Hence there is one and only one mid point of a line.

M

a
b

{
S @o\ ¢
c
N

Given:-a:b=2:3and ZPOY =90°
ToFdehevaIueofaandb ..........................................................................
Solution :-a:b=2:3 Leta=2x and b =3x

We know that sum of angles of linear pair are 180°




therefore, Z/POY +a +b = 180°
As given in question, by putting ZPOY =90°
= at+tb=90°
s 2X+3x = 90°
= 5x =90°
So, x =18°
~a=2x18°=36°
b =3x18° =54°
Inf|gb+C|sonStra|ghtI|ne ....................................................................................
therefore, b+c = 180°
c+54° = 180°
~ c=126°

127¢
C Q R D

Given :- ABII CD, ZAPQ =50° and ZAPR =127°

Solution :- AB Il CD and PQ is a transversal line. (Given)

ZAPQ = ZPQR (Alternate Angles)

By putting ZAPQ =50° and ZPQR =X




Also ZAPR = ZPRD (Alternate Angles)

Or, ZAPR =127° ( Given ZPRD =127°)

We know that ZAPR =ZAPQ+ZQPR

Now by putting values, ZQPR =y and ZAPR =127°
We get 50°+y=127°

y=77°

Xx=50°andy=77°

Let three sides of triangle 12x , 17x, 25x
Semi perimeter (s) = % =270 cm

270 — 12x+17x+25x
54x= 540
x=10
First Side = 12x10= 120 cm
Second Side = 17x10 = 170 cm
Third Side = 25x10 = 250 cm

Area of A = \/s(s —a)(s—b)(s—0)

= /270(270 — 120)(270 — 170)(270 — 250)




J/270(150)(100)(20)

9000 cm?

OR

Radius of conical cap (r) =7 cm
Height of conical cap (h) =24 cm

Slant height of conical cap (L) = /(r)2 + (h)?
=V(D)? + @497
=49 +576
=625

=25cm

= 10x%x7x25

= 5500 cm?

Total cost of 10 caps = 5500 x 0.35 = 1925 Rs.

C

Given ;- AC = AD line AB hisect ZA




Proof:- In AABC and AABD
(i) AC=AD ( Given)
(ii) AB = AB (Common)
(iii) ZCAB = ZDAB (Because AB is bisector of ZA Given)

Hence, AABC = AABD. (By S.A.S)

Hence BC =BD (ByC.P.CT)

SECTION-E

36.

(i) Sides of Triangle ABC 122m, 22m and 120m

Perimeter of Triangle = (122+22+120) = 264m

a+b+c

(i) Area of A =/s(s —a)(s — b)(s — ¢) Where S=

(i) Semi Perimeter (s) = 264/2 =132 #T.

Area of A = \/s(s —a)(s—b)(s—0)

=,/132(132 — 122)(132 — 22)(132 — 120)

=V132x 10 x 110 x 12

=1320 m?

OR

We know Rent of Advertisement per year = 5000 m’




= Rent of 3 months of the wall = Rs.(1680x5000x3)/12=Rs. 2100000

37.

(i) Distance between Rahul and Neetu = 2- (-2) = 4 Unit

(i)  Ankit is sitting in (111) third quadrant

(iii) By joining four places in order we get a rectangle

OR

(iii) Length = 8 Units Breadth = 4 Units
Area = 8X4 = 32 m’

38.

(i) Political Party A won maximum number of Seats.

(iii) Bar Graph
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